A A)
R A E M E R E
119 > == I =) ) X
. 104 [ 105|106
105 \\
‘\\ 11811191120
\\
N 1301131132
\\
104-1 \\ ABRE
\\
\\
\\
\\
\\
\\
\\
\\
104-5 \\\/
N
—— 7 B L
_— i1} T K]
—————— T B =
RREBEH @ T F1
RREH T 8 =4
% R
9999-9 i S
104-7 FEMHBE E 5
103
98-4
=
N
62_2 61-1 i
62-1
63-1 62*3 o3
s 601 12-1 12-3 2}
ERRE%E 50651818 . COMAEG. —tIHTEESICERATEDIEDTRHDEE A,
1 1 ’OOO F2. WBEBOBEBZT UIZED THERNBIREZRRIDEDTIEH DT A, 1 1 9

0 25 50 100m




120

RN =

Ty
-
J
—+

=

106

101-3

101-1

HRE

156-1

156-3

i) =1iil)

hd
oy 140-9
l 139-7

@

1

>

Gl

1,\

18777 137-20

2N
il

\

\ 143-4

\ !
&
&
N l 135-7

e
&
.
. b4
\ N

145-2 o

145-3

FRE%E : 5HN6F1818 1:1.000 COPAEE. —RNEESCEATEZEDTRBDEL A,
%o Fr2. BEORBER LSO TREABRERRT B0 TRBDEL A,

100m

105|106 (107
1191120121
1311132133
N Bl

—_——— 137 i R
—_— il T R
—————— T 8 R
RREH & T B
RAED T 8 2
% R
9999-9 i S

FEMHBE E H

120



Iy

RN =

A=

61-1 61-2

264-2

207

HEIRTES

264-10

2-3

286-2

<
285-4

96;

285-1

202> 3

ERRE®EE : 5651818

11,000

50

100m

COMBEIE. —tIRIBREICEATEDENTIEIHDEE A,
Fiz. wBDOEBET UZED THENBERZRERIDIEDTIEHD A,

i 1 e e [

1181119 (120
13011311132
1411142143
N Bl
—_——————— 137 i
—_— il T
—————— T 8
RREH & 0T
RAED T =]
%
9999-9 i
FEMHBE E H

131



Iy
|

132 FAEHHBIRE R

2-3 2-1

L—

785-3

285-4

BINER

\ 148-2
FET m

37-1

% 62 ~
169-1 ’d;a\ s 37-7 e
’ \ 63-5
285-6 175-2 125-7 125-10 38-3
1758 |\ 1075 12571 125-1 2 7
EREED 50651818 1 1 OOO COM@EG. —UIRNBRECEATEDEDTREDHDEE A,
* b

0 25 50 100m

Fiz. wBDOEBET UZED THENBERZRERIDIEDTIEHD A,

1191120 (121
13111321133
142|143 | 144
N Bl
———- 137 i R
—_——— il T R
—————— T 8 R
RREH & T B
RAED T 8 2
% R
9999-9 i S
FEMHBE E H

132



	119
	120
	131
	132

